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LMT-01: LEARNING MATHEMATICS 
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Note : Answer any ten questions. 

1. (a) Give two reasons why mathematics should 	5 

be part of the primary school curriculum. 

Also give two distinct examples in support 

	

CO 	of your reasons. 
C\J 

	

(b) For which value of p can (p +1, p + 2, p + 3) 	5 

	

C.) 	be the sides of a right angled triangle ? 
C.). 

For this value of p, check whether 

(2p + 2, 2p + 4, 2p + 6) are also sides of a 

right angled triangle ? Give mathematical 

reasons for your responses. 

2. (a) Give 3 key features of the programming 

model of learning. Also illustrate all of them 

through an example related to teaching 

children how to represent 3D - objects in 

2D. 
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(b) Give the different types of representation 	4 

that a learner needs to use in the process of 

developing an abstract concept. Also 

outline a strategy to help the child develop 

the ability to use these representations, in 

the context of learning about 'angle'. 

3. 	Reeta gives the children of Class IV a group 10 

activity to be done in groups of 3 children each. 

The activity is that they have to take the work 

sheet she gives them, which is on 'place value', 

and do the tasks given in it. While they are 

working, Reeta sits with each group, talks to them 

and also observes what they are doing. Based on 

this she assesses the children. 

Now answer the following questions : 

(a) For this interaction to be a good learning 

exercise for the children, give three distinct 

questions that you think she should have 

included in the work sheet. Give reasons 

for choosing these questions also. 

(b) Give two aspects of learning that she could 

be observing while sitting with the children. 

(c) Mohan, another teacher, tells Reeta that this 

is not the way to assess the children. She 

should, instead, give them a test paper to 

solve individually. Do you agree with 

Mohan or with Reeta ? Give reasons for 

your answer. 
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4. 	(a) Sohan says 2 — 	
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rn and Purrua says 	6 
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. Is either of them giving the 

correct answer ? Give a series of two 

activities that would help a child arrive at 

the correct answer herself. 

	

(b) What does the "ability to conserve" mean ? 	4 

Give an example as a part of your 

explanation. Further, Rehana argues that 

preschoolers cannot conserve volume 

because they cannot reverse their thinking. 

Do you agree with Rehana ? Give reasons 

for your answer. 

	

5. 	(a) 	( ) 	Which of 0.09999 and 0.1 is bigger, 	1 

and why ? 

	

(ii) How would you help class 5 learners 	4 
understand the principle underlying 

the process of picking the larger of two 

decimal fractions ? Explain this in 

detail. 

(b) Rajeev argues 30+5=6, 10 +2.5=4 and 	2 

1000 2 = 500, so that we can say that 

indivision the quotient is always smaller than 

the dividend. Do you think he is right ? 

Give reasons for your answer. 

(c) Explain the statement, "a map does not 	3 

have a perspective while a picture has". Give 

a detailed example to illustrate your answer. 
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6. 	(a) The following graph shows the frequency 	4 

distribution of the heights of students in 

class. 

(i) 	Construct a frequency table for this 

data. 

i) What is the modal group of heights ? 

Give 5 concepts that you can help 

children of class 4 learn, using this 

example. 

	

(b) Explain the thought processes involved in 
	4 

inductive reasoning and in deductive 

reasoning, through an example pertaining 

to tailoring. 

	

(C) Draw an object which has rotational 	2 

symmetry, but has no reflection symmetry. 

Justify your choice of example. 
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7. (a) Explain, using an example from data 	5 
handling, what 'moving from particular to 
general' means, and what 'going from 

general to particular' means. 

	

(b) Children often get misunderstandings 
	

5 
regarding how and when eclipses occur, 

based on the process diagrams given in their 

text books. List two such misconceptions. 

How would you help correct such 

misunderstandings ? 

8. (a) Give 3 characteristics of a glided 	5 

constructivist learning process. Illustrate 

them using the example of addition of 

numbers for class 2 children. 

	

(b) What does 'to go from teaching to learning 	5 
in a class room' mean ? Why do we 
talk about learning instead of teaching, 

in constructivist class rooms ? Your 

explanation should include division of 

numbers as an example. 

9. (a) What is an activity ? List 5 points to keep in 	7 
mind while designing an activity for 

children. 

Further, give an example of "doing 

something" which is not an activity the 

context should be part of the example. Also 

give justification for your choice of example. 

	

(b) Design a (constructivist) activity to assess 	3 
the extent to which a class 5 child 
understands the concept of 'prime number'. 
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10. Give one example each in support of the following 10 
statements. 

(a) Children's play is a part of the process of 
learning. 

(b) Children must be encouraged to look for 
diverse solutions to a problem. 

(c) Children handle data even before joining 

formal school. 

(d) There are other mathematical abilities of 

children which can be developed while 

developing their spatial abilities. 

(e) A mathematical proof is not just any 

collection of related mathematical 

statements. 

	

11. (a) In the context of a child's schema, explain 	6 

what is meant by 

(i) assimilation, 

(ii) accommodation, 

(iii) elaboration 

Through one example from the context of 

learning about 'chance', show these 

processes. 

	

(b) What are the steps involved in solving a 	4 
word problem .? Use an example as part of 

your explanation. 
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